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30184 H=AE 2T B 202 13|{R B0 HEAE| #HE
30185 f=AHE 2T B 202 14|{R B0 HEAE| #HE
30186 H=AHE 2T B 202 17|{R BB 1h H=AR| #E
30187 H=AHE 2T B 202 18|{R BB 1h H=AE| &
30188 H=AHET 2T B 202 21|12 BBt H=AR| #HE
30189 H=AHE 2T B 202 22|17 BBt HEAE| #HE
30190 fE=AET 2T B 202 23| R BB HEAE| #HE
30191 ff=ART 2T B 202 31|REHh HEAE| #HE
30192 fE=AET 2T B 202 33| R B HEAE| #HE
30193 f=AE 2T B 202 34|R B HEAE| #HE
30194 f=AHE 2T B 202 35|fR B HEAE| #HE
30195 f=AHE 2T B 205 6| R B Hh H=ARE| #HE
30196 H=AHE 2T B 205 9|REHh H=ARE| #HE
30197 H=AHE 2T B 205 16|{R B0 H=AR| #HE
30227 H=AHE 4T H 201 11| B HEAE| #HE
30228 E=AHET 4T B 201 12| HEAE| #HE
30229 f=AHET 4T B 202 AR B HEAE| #HE
30230 f=AET 4T H 205 2|RE HEAE| #HE
30231 H=AHE 4T H 205 AR BHh HEAE| #HE
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#o|ES| IAEZ | BT | I9HhE | ARE | S04 | HFiTF | S | 5k BB R | TR | BTERS
30232 [ EZN I 205 8|REEHh HEAE| #HE
30233 G EZN I 206 10|{R BB b HEAE| #HE
30234 G EZNIIENE 206 11| B HEAE| #HE
30235 H=AHET 4T B 206 12| B0 HEAE| #HE
30236 f=AHET 4T B 206 13|{R B HEAE| #HE
30252 H=AHE 5T H 300 8|REHh HEAE| #HE
30253 H=AE (5T H 300 9|REHh H=EAE| #HE
30254 H=AE (5T H 300 18|{R B Hh HEAE| #HE
30255 H=AET (5T H 301 6| R Hh HEAE| #HE
30256 E=AE (5T H 302 AR B HEAE| #HE
30258 H=AE 5T H 303 8|RE Hh HEAE| #HE
30259 fE=AET 5T H 303 12|{R B0 HEAE| #HE
30260 H=AHE (5T H 303 13|{R BB th HEAE| #HE
30261 H=AE (5T H 303 17|{R BB th HEAE| #HE
30262 H=AE 5T H 303 19|{R BB 1h HEAE| #HE
30263 H=AHE (5T H 303 20| B3 th HEAE| #HE
30264 HEARET 5T H 306 4|{R B ih HEAET| fHE
30265 XA 5T H 306 8|{R R ih HEAET| HE
30266 HsEARET 5T H 307 5|{R 2R ih HEXET| fHE
30267 fH=AE 5T H 308 1|1R 2B #h HEAE| #HE
30268 XA 5T H 308 5|{R 2R ih HEXET| fHE
30269 H=AE 5T H 308 6|{R B HEAE| #HE
30270 H=AE (5T H 308 9|REHh HEAE| #HE
30271 H=AHE (5T H 308 12| B HEAE| #HE
30278 H=AHE (5T H 309 9|REHh HEAE| #HE
30279 H=AE (5T H 309 10|{R BB #h HEAE| #HE
30280 H=AE (5T H 309 11| B HEAE| #HE
30281 E=AET (5T H 309 14|20 HEAE| #HE
30282 fH=ART 5T B 309 21| R HEAE| #HE
30286 H=AET (5T H 310 6| R Hh HEAE| #HE
30287 H=AE 5T H 310 1R #h HEAE| #HE
30288 H=AE (5T H 310 9|REHh HEAE| #HE
30289 H=AHE (5T H 310 19|{R BB b HEAE| #HE
30290 H=AE (5T H 311 AR B H=EAE| #HE
30291 H=AHE (5T H 311 5|REHh HEAE| #HE
30292 H=AET (5T H 311 7R #h HEAE| #HE
30312 fE=AHET 6T H 105 5|REHh HEAE| #HE
30313 fE=AHET 6T H 105 TR #h HEAE| #HE
30314 fE=AET 6T H 105 8|REHh HEAE| #HE
30315 f=AHET 6T B 105 9|{R B HEAE| #HE
30316 fE=AHET 6T H 105 11| B HEAE| #HE
30317 f=AHET 6T B 105 12|{R B0 HEAE| #HE
30344 H=AHE 7T H 301 2|REHh HEAE| #HE
30345 H=AHE 7T H 301 8|REEHh HEAE| #HE
30348 H=AE 7T H 302 3|RE HEAE| #HE
30349 E=AE 7T H 302 12| B0 HEAE| #HE
30350 fH=AR 7T H 302 13|{R B HEAE| #HE
30351 H=AE 7T H 303 5|GREHh HEAE| #HE
30352 H=AE 7T H 305 3|RE HEAE| #HE
30353 H=AE 7T H 305 AR B HEAE| #HE
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